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1. EYHYSSERI(H1000xW700-SB5S2) X ZA "' Y(HERH SR TA)
(EDNES ©139.8x4.3(x2180 1| 2 | 192,000 | 192,000 192,000 | 192,000
NEST ©139.88 1o 2,400 2,400 2,400 2,400
waje 175x50x4530x3.9t 0.67| & | 238,800 | 159,996 238,800 | 159,996 |oietEa
s2s482 ©370x240 2| M | 107.000 | 214,000 107,000 | 214,000 |eAmiEe
Lo B/N 5/8x38 1.33] f 700 930 700 930
32D B/N 5/8x200 3| o 5,000 15,000 5,000 15,000

2N (R SH) 584,326 - - 584,326 |2024.09 H2iJt= P.264
=Nl Sga= 0.071| ¢ 219,321 15,571 219,321 15,571 |20244 AL BAEESH(USALES]) P.747

' 2502 0.143| ¢ 167,081 23,892 167,081 23,892 |20244 ALBAEESH(UEALHS]) P.747
EE<B] 25Kkw 0.057| hr 9,122 519 34,803 1,983 3,237 184 | 47,162 2,686 |oloit e EERAHRARER) P
WS (2013 28) |0.7m’ 0.114| hr 24,610 2,805 56,874 6,483 34,509 3.934 | 115,993 13,200 VRN AEBNEEBAMEEALE) P17
gmes 2.5ton 0.286| hr 6,846 1,957 48,741 13,939 6.169 1,764 61,756 17,660 |oars 2eaNEEEaUzasEs Py
T oI5 E2 3% oA 1,183 1,183 1,183 1,183 (20249 AL SAEES (WS ALES]) P.747

A (&R 6,464 61,868 5,882 74,214

b 590,790 61,868 5,882 658,540




& o3 CH It =
M 2 4l L 2l 42 i 2 A
= e +g | =9 bl ol
=) = o =) = o = = o =l = A

2. B2 (H1000 == E)E X SAH "HA'S (HESH ES A2
OH & XI== ®139.8x4.3tx2180 0.5| = 192,000 96,000 192,000 96,000
X =2 ®139.88 0.5 M 2,400 1,200 2,400 1,200
ct=2Ed 175% 2| & 76,000 152,000 76,000 152,000 |ote=2
SAETEH ®370x240 1 JH 107,000 107,000 107,000 107,000 |erAXIZSE
ct2Sd2dHZ B/N  |5/8x80 41 Of 2,500 10,000 2,500 10,000
dgnd B/N 5/8x200 1 JH 5,000 5,000 5,000 5,000

2A(KEHI) 371,200 - - 371,200 [2024.09 HeHot2i P.264
A Xl Ego= 0.04 | ¢! 219,321 7,785 219,321 7,785 |EER2t2 50%

! 20 0.07 | ¢l 167,081 11,946 167,081 11,946 |EE722l 50%
Erapll 25kw 0.03 | hr 9,122 259 34,803 991 3,237 92 47,162 1,342 |E=72t2 50%
WS (=201H Z8)  |0.7m® 0.06 | hr 24,610 1,402 56,874 3,241 34,509 1,967 115,993 6,610 |EE=72t2 50%
HOEH 2.5ton 0.14 | hr 6,846 978 48,741 6,969 6,169 882 61,756 8,829 |E=E72t2l 50%
M=l el Z ol 3% 1 4l 591 591 591 591 (2024 AL ZAEEZM(UEIALE3]) P.747

2A(EXIHI) 3,230 30,932 2,941 37,103

Al 374,430 30,932 2,941 408,303




Jl = CH It =
T 2 dl L2l 4 dl g
=22 e =2 | o2 H 22
= 2 o = 2 o =l = o = = o

* N1SHE : 2A&I|(25kw)-"'AlI2H'ES
ad= 0.001W% S 4.3 | 1,711 7,357 1,711 7,357 |2024.09 Helot P.1451
gM= FHZ2 24% 0.24| Al 7,357 1,765 7,357 1,765
LB H2H AL 1] ¢l 34,804 34,803 34,804 34,803 |H4sHE

A 9,122 34,803 3,237 47,162
* M2 H : @ZE=(2.5t0n)-"'AlI2HE
ad= 0.001W% S 2.9 | 1,711 4,961 1,711 4,961 |2024.09 HehJt2 P.1451
gM= FHZO 38% 0.38] A 4,961 1,885 4,961 1,885
SIEXE M AL 1] @l 48,742 48,741 48,742 48,741 |H5&H

H 6,846 48,741 6,169 61,756
* MBS E : #5(0.6m° HHE0IH Za&)-"Al2HY
SR 0.001W% S 11.6] | 1,711 19,847 1,711 19,847 |2024.09 H2ioH P.1451
[SPNI= FHZ 2l 24% 0.24| Al 19,847 4,763 19,847 4,763
I H 2 A 1 ¢ 56,874 56,874 56,874 56,874 |H6EHE

A 24,610 56,874 34,509 115,993




T 2 dl L 2l 4 dl g
335 e =2 | o H 22
= = 9 = = 9 =l = o =l = o
* M4SHE : LBIHDIIA-"AIZHE
LU H 2T A 0.208 | ¢l 167,059 34,804 167,059 34,804 |121% Al 2hx a0 H 4x 5 XI H 4=(1/8)x(16/12)x(25/20)
* NI5SH : SIS A-'AlIZNE
SIE X2 AL 0.208 | ¢l 233,960 48,742 233,960 48,742 [12I13 AR 01 3 4x 8 X1 H 2=(1/8)x(16/12)x(25/20)
* NS H : HEI|HSEM-"AIZH'YE
HEIIH2HE A 0.208 | ¢l 272,996 56,874 272,996 56,874 |1201% Al 2hx a0 H 4=x 5 KI H 4=(1/8)x(16/12)x(25/20)
* L e}
Ego= 2024.9.101& 1 - 219,321 219,321 219,321 219,321
2= 2024.9.101& 1 - 167,081 167,081 167,081 167,081
3223 2024.9.101& 1 - 247,269 247,269 247,269 247,269
LU H 2 A 2024.9.101& 1 - 167,059 167,059 167,059 167,059
SIS X2 H AL 2024.9.101& 1 - 233,960 233,960 233,960 233,960
HEIIH2HE A 2024.9.101& 1 - 272,996 272,996 272,996 272,996
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1. EYYYSSEI(H1000xW700-SBSS)EXIBA "F 2" YL ESHIZ BT
(EPES ©139.8x4.3tx2180 1| = | 192000 | 192,000 192,000 | 192,000
EST ©139.88 1 of 2,400 2,400 2,400 2,400
wal 175x50x4530x3.9t 0.335| & | 238,800 | 79,998 238,800 | 79,998 |oei=3
wa 175x50x4530x3.9t 0.335| & | 224,000 | 75040 224,000 | 75040 |2uEm
g5 20 ©370x240 2| o | 107,000 | 214,000 107,000 | 214,000 |#Axze
alerz B/N 5/8x38 1.3 OH 700 930 700 930
LD B/N 5/8x200 3 5,000 15,000 5,000 15,000

2 (K SH) 579,368 - - 579,368 |2024.09 27t P.264
ERE szos 0.071| o 219,321 15,571 219,321 15,571 |2024 28 BAEESY

: EERIE 0.143| ol 167,081 23,892 167,081 23,892 |20241 A4 BNEEEY
2 X 25kw 0.057| hr 9,122 519 34,803 1,983 3,237 184 | 47,162 2,686 |5 ah SEENEEES
85201 Z8)  |0.7m’ 0.114] hr 24,610 2,805 56,874 6.483 34,509 3.934 | 115,993 13,200 VR SEENEESS
gmee 2.5ton 0.286| hr 6.846 1,957 | 48,741 13,939 6.169 1,764 | 61,756 17,660 | Vel AEENEEEA
SN IR EZ2 3% 1 A 1,183 1,183 1,183 1,183 [2024E AL SAEESH(HERALES

ES TERET 6,464 61,868 5,882 74,214

p 585,832 61,868 5,882 653,582




= o3 CH ot =
M = dl L 24l 42 i 2 A
= e +g | =9 bl ol
= 2 o = 2 o =l = o = = o
2. &5 (H1000 =S E)EXSA "HA"SE (HERH EER2
HE XI== ®139.8x4.3tx2180 0.5| = 192,000 96,000 192,000 96,000
A= ®139.88 0.5 M 2,400 1,200 2,400 1,200
ct2Ed e 175%2 1 & 76,000 76,000 76,000 76,000 (ot
ct2Edle 175% 1 & 100,000 100,000 100,000 100,000 |2M=z
SAE+EY ®370x240 1 O 107,000 107,000 107,000 107,000 |SHAIXIZS
2 gdH& B/N  |5/8x80 4] N 2,500 10,000 2,500 10,000
dl2Dd B/N 5/8x200 1 M 5,000 5,000 5,000 5,000
2 ARSI 395,200 - - 395,200 | 2024.09 Helot= p.264
A Xl Egos 0.04 | ¢ 219,321 7,785 219,321 7,785 |EET2 50%
! 2808 0.07 | ¢ 167,081 11,946 167,081 11,946 |E=72t2 50%
Eapl 25kw 0.03 | hr 9,122 259 34,803 991 3,237 92 47,162 1,342 |EE=F2t2 50%
HS(=2d01H Z&) |0.7m° 0.06 | hr 24,610 1,402 56,874 3,241 34,509 1,967 115,993 6,610 |E&E72250%
HOE™ 2.5ton 0.14 | hr 6,846 978 48,741 6,969 6,169 882 61,756 8,829 |EEF22 50%
SN =] eI Z2l 3% 1 Al 591 591 591 591 |2024E AL BAEEZEM(UEHALFSI) P.747
2A(EXIHI) 3,230 30,932 2,941 37,103
Al 398,430 30,932 2,941 432,303




Jl = CH It =
T 2 dl L2l 4 dl g
=22 e =2 | o2 H 22
= 2 o = 2 o =l = o = = o

* N1SHE : 2A&I|(25kw)-"'AlI2H'ES
ad= 0.001W% S 4.3 | 1,711 7,357 1,711 7,357 |2024.09 Helot P.1451
gM= FHZ2 24% 0.24| Al 7,357 1,765 7,357 1,765
LB H2H AL 1] ¢l 34,804 34,803 34,804 34,803 |H4sHE

A 9,122 34,803 3,237 47,162
* M2 H : @ZE=(2.5t0n)-"'AlI2HE
ad= 0.001W% S 2.9 | 1,711 4,961 1,711 4,961 |2024.09 HehJt2 P.1451
gM= FHZO 38% 0.38] A 4,961 1,885 4,961 1,885
SIEXE M AL 1] @l 48,742 48,741 48,742 48,741 |H5&H

H 6,846 48,741 6,169 61,756
* MBS E : #5(0.6m° HHE0IH Za&)-"Al2HY
SR 0.001W% S 11.6] | 1,711 19,847 1,711 19,847 |2024.09 H2ioH P.1451
[SPNI= FHZ 2l 24% 0.24| Al 19,847 4,763 19,847 4,763
I H 2 A 1 ¢ 56,874 56,874 56,874 56,874 |H6EHE

A 24,610 56,874 34,509 115,993




T 2 dl L 2l 4 dl g
335 e =2 | o H 22
= = 9 = = 9 =l = o =l = o
* M4SHE : LBIHDIIA-"AIZHE
LU H 2T A 0.208 | ¢l 167,059 34,804 167,059 34,804 |121% Al 2hx a0 H 4x 5 XI H 4=(1/8)x(16/12)x(25/20)
* NI5SH : SIS A-'AlIZNE
SIE X2 AL 0.208 | ¢l 233,960 48,742 233,960 48,742 [12I13 AR 01 3 4x 8 X1 H 2=(1/8)x(16/12)x(25/20)
* NS H : HEI|HSEM-"AIZH'YE
HEIIH2HE A 0.208 | ¢l 272,996 56,874 272,996 56,874 |1201% Al 2hx a0 H 4=x 5 KI H 4=(1/8)x(16/12)x(25/20)
* L e}
Ego= 2024.9.101& 1 - 219,321 219,321 219,321 219,321
2= 2024.9.101& 1 - 167,081 167,081 167,081 167,081
3223 2024.9.101& 1 - 247,269 247,269 247,269 247,269
LU H 2 A 2024.9.101& 1 - 167,059 167,059 167,059 167,059
SIS X2 H AL 2024.9.101& 1 - 233,960 233,960 233,960 233,960
HEIIH2HE A 2024.9.101& 1 - 272,996 272,996 272,996 272,996
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1. EYHYSSERI(H1000xW700-SB5S2) X ZA "' Y(HERH SR TA)
(EDNES ©139.8x4.3(x2180 1| 2 | 192,000 | 192,000 192,000 | 192,000
NEST ©139.88 1o 2,400 2,400 2,400 2,400
waje 175x50x4530x3.9t 0.670| & | 224,000 | 150,080 224,000 | 150,080 |zHEx
s2s482 ©370x240 2| M | 107.000 | 214,000 107,000 | 214,000 |eAmiEe
Lo B/N 5/8x38 1.33] f 700 930 700 930
32D B/N 5/8x200 3| o 5,000 15,000 5,000 15,000

2N (R SH) 574,410 - - 574,410 |2024.09 H2hJt= P.264
=Nl Sga= 0.071| ¢ 219,321 15,571 219,321 15,571 |20244 AL BAEESH(USALES]) P.747

' 2502 0.143| ¢ 167,081 23,892 167,081 23,892 |20244 ALBAEESH(UEALHS]) P.747
EE<B] 25Kkw 0.057| hr 9,122 519 34,803 1,983 3,237 184 | 47,162 2,686 |oloit e EERAHRARER) P
WS (2013 28) |0.7m’ 0.114| hr 24,610 2,805 56,874 6,483 34,509 3.934 | 115,993 13,200 VRN AEBNEEBAMEEALE) P17
gmes 2.5ton 0.286| hr 6,846 1,957 48,741 13,939 6.169 1,764 61,756 17,660 |oars 2eaNEEEaUzasEs Py
T oI5 E2 3% oA 1,183 1,183 1,183 1,183 (20249 AL SAEES (WS ALES]) P.747

A (&R 6,464 61,868 5,882 74,214

b 580,874 61,868 5,882 648,624




& o3 CH It =
M 2 4l L 2l 42 i 2 A
= e +g | =9 bl ol
=) = o =) = o = = o =l = A

2. B2 (H1000 == E)E X SAH "HA'S (HESH ES A2
OH & XI== ®139.8x4.3tx2180 0.5| = 192,000 96,000 192,000 96,000
X =2 ®139.88 0.5 M 2,400 1,200 2,400 1,200
ct=2Ed 175% 2| & 100,000 200,000 100,000 200,000 |=xMEZ
SAETEH ®370x240 1 JH 107,000 107,000 107,000 107,000 |erAXIZSE
ct2Sd2dHZ B/N  |5/8x80 41 Of 2,500 10,000 2,500 10,000
dgnd B/N 5/8x200 1 JH 5,000 5,000 5,000 5,000

2A(KEHI) 419,200 - - 419,200 |2024.09 HeHot2i P.264
A Xl Ego= 0.04 | ¢! 219,321 7,785 219,321 7,785 |EER2t2 50%

! 20 0.07 | ¢l 167,081 11,946 167,081 11,946 |EE722l 50%
Erapll 25kw 0.03 | hr 9,122 259 34,803 991 3,237 92 47,162 1,342 |E=72t2 50%
WS (=201H Z8)  |0.7m® 0.06 | hr 24,610 1,402 56,874 3,241 34,509 1,967 115,993 6,610 |EE=72t2 50%
HOEH 2.5ton 0.14 | hr 6,846 978 48,741 6,969 6,169 882 61,756 8,829 |E=E72t2l 50%
M=l el Z ol 3% 1 4l 591 591 591 591 (2024 AL ZAEEZM(UEIALE3]) P.747

2A(EXIHI) 3,230 30,932 2,941 37,103

Al 422,430 30,932 2,941 456,303




Jl = CH It =
T 2 dl L2l 4 dl g
=22 e =2 | o2 H 22
= 2 o = 2 o =l = o = = o

* N1SHE : 2A&I|(25kw)-"'AlI2H'ES
ad= 0.001W% S 4.3 | 1,711 7,357 1,711 7,357 |2024.09 Helot P.1451
gM= FHZ2 24% 0.24| Al 7,357 1,765 7,357 1,765
LB H2H AL 1] ¢l 34,804 34,803 34,804 34,803 |H4sHE

A 9,122 34,803 3,237 47,162
* M2 H : @ZE=(2.5t0n)-"'AlI2HE
ad= 0.001W% S 2.9 | 1,711 4,961 1,711 4,961 |2024.09 HehJt2 P.1451
gM= FHZO 38% 0.38] A 4,961 1,885 4,961 1,885
SIEXE M AL 1] @l 48,742 48,741 48,742 48,741 |H5&H

H 6,846 48,741 6,169 61,756
* MBS E : #5(0.6m° HHE0IH Za&)-"Al2HY
SR 0.001W% S 11.6] | 1,711 19,847 1,711 19,847 |2024.09 H2ioH P.1451
[SPNI= FHZ 2l 24% 0.24| Al 19,847 4,763 19,847 4,763
I H 2 A 1 ¢ 56,874 56,874 56,874 56,874 |H6EHE

A 24,610 56,874 34,509 115,993




T 2 dl L 2l 4 dl g
335 e =2 | o H 22
= = 9 = = 9 =l = o =l = o
* M4SHE : LBIHDIIA-"AIZHE
LU H 2T A 0.208 | ¢l 167,059 34,804 167,059 34,804 |121% Al 2hx a0 H 4x 5 XI H 4=(1/8)x(16/12)x(25/20)
* NI5SH : SIS A-'AlIZNE
SIE X2 AL 0.208 | ¢l 233,960 48,742 233,960 48,742 [12I13 AR 01 3 4x 8 X1 H 2=(1/8)x(16/12)x(25/20)
* NS H : HEI|HSEM-"AIZH'YE
HEIIH2HE A 0.208 | ¢l 272,996 56,874 272,996 56,874 |1201% Al 2hx a0 H 4=x 5 KI H 4=(1/8)x(16/12)x(25/20)
* L e}
Ego= 2024.9.101& 1 - 219,321 219,321 219,321 219,321
2= 2024.9.101& 1 - 167,081 167,081 167,081 167,081
3223 2024.9.101& 1 - 247,269 247,269 247,269 247,269
LU H 2 A 2024.9.101& 1 - 167,059 167,059 167,059 167,059
SIS X2 H AL 2024.9.101& 1 - 233,960 233,960 233,960 233,960
HEIIH2HE A 2024.9.101& 1 - 272,996 272,996 272,996 272,996




